Back to the Future – Answers
I. Compare scenes 1 and 2:

a) Scene1: 
Reports

Scene2: 
Homework

b) Scene1: 
Biff must get them re-typed.

Scene2: 
Biff must re-copy them in his own handwriting.

c) Scene1: 
Biff will get fired.

Scene2: 
Biff will get kicked out of school.

d) Scene1: 
Biff says, “Your shoe’s untied.”

Scene2: 
(same)

e) Scene1: 
Biff borrows George’s car, wrecks it and does not say ‘Sorry.’

Scene2: 
Biff orders George to stay out of the coffee shop.

II. Marty’s plan versus reality:

a)  B 

b)  N

c)  P

d)  P

e)  R

f)  R

g)  B

h)  R

i)  N

j)  B

